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(A)#raz (B)Ag A (C) ROM (D) RAM

2. CPU x Program Counter (#2 X 313 % ) register 892/ A £ 2 XA & B4 2
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(A) RAM (B) Register (C) ROM (D) Cache Memory
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(A) RAM (B) ROM (C) PROM (D) BIOS
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(A) B F % (B)E B E% (C)paf A 434 (D) & 483

9.F 35 K& # HIML + 85 %1442 % B t+ ( image tag attribute in HTML) ?

(A) HREF (B) ALIGN (C) HEIGHT (D) BORDER
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(A) C &Ky 2 EAREFH X &M ¢7 (Call by Value)
(BMihk (Adress) BTN Z X F
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114 A7 HTML F 694832 & (link) tag & )47 #& tag ?

(A) body tag (B) anchor tag (C) head tag (D) image tag
124 Internet ¥ 4 B RAE K 9"k — M ht 55 % ?
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(A) Cr (B) C# (C) Java (D) HTML
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(A) DMA (B) Buffer (C) Polling (D) Interrupt
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(A)@ #z e (EBarly Effect) (B) #hz e (Miller Effect )

(C)#t %34 & (Hysteresis Effect ) (D)A sz (Body Effect)
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I[=90uA ~ 1=10mA » KK EAKRBEZTHE S AR LT
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(A) A=1000 > B=9x10> (B) A=-90 B=111.11 IS(%QRS%
(C) A=100 > B=90 (D) A=1000 » B=111.11

244 BITER T » Tol4T4 2 & @A (Barly Effect) frZ 4 ? I
(A)#i# B 7& (Punch-through Breakdown ) 37 £ 554
(B)Z# s & (Avalanche Breakdown ) 3 £ %54
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(C) 30 kQ (D) 10kQ (8 2] (B 3]
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(A) (I+R2/R1)=0 (B) (1+Ry/R)=2 (©) (1I+R/R1)=1 (D) (1+R2/Ry)=3
+5V
V=40V 1k é SkQ
—> Voo tav oA
L 820Q _ 12kQ 1kQ D
p=50 T4V Ay v,
V,=10V l D,
IRgY D
I ) +
% 8.2kQ vV, 1
[E 4] L [E 5] 1kQ [B 6]

2840k [B4) PAnEs OP AL RAKASE » BARMHZ BITAEHE > BIREK Vo1, ?
(A)18.74V > 36.6 mA (B)18.6V »283mA (C)24.6V >36.6mA (D)34.5V > 283 mA
294 b [B 5] A 7E% S BB ERER V0TV RRE Voma S 2
(A) 2V (B) 0.6V (C) 3.6V D)5V
30405k [B 6] PAITER  VpHB TV RERKEIp Ves B E&B % ) ?
(A)1.51mA > 1.795V (B)1.51mA > -1.795V (C)3.42mA > 28V  (D)3.42mA > 2.8V

Ve +10V
5KQ
WY V; V, B
— __YO 100kQ Ve
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314w bt [B 7) A7or OP A32 483 K % R=500kQ - R;=100 kQ ~ R,=100 kQ ~ R3=250 kQX K sk
TROGWMETE V?
(A) -10V -5V (B) -5V4-10V5 (C) 5VA-10V " (D) 10VA-5V5

3240k [ B 8] Ai=% B #a#h #i 4 (Class B output stage) A A% » 28 Vpg ~ VepsanZ 24 E
V=8V ~ Ri=50Q » XK\ K%kt 5% (Maximum sine-wave output power ) Pp y HAE BT ?
(A)0.64 W (B) 0.08 W (C)1.28 W (D) 0.32 W
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(A) 165> 1.75V (B)16.55-175V  (C)165 -1.75V (D) 0.165 > 17.5V
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344 LR [E 10] AT ASHERBAKRE  ARLLBRBEABZEZTRE S Av=Vo/Vi, ?

(A) 4.56 (B) -4.56 (C)-45.6 (D) 45.6

35—RZZA AR NMOS KA EFf— CMOS #MBHERAMBAMALLERZT > CHAZHA-

HEFEB R R RFE R AT ?

A)Z2zREHRZNMOS KA BRSZHETRRA

B)EZA &K NMOS 2K ERTAE - 2 CMOS KA X
(CymF a4 £ 180 &

D)CMOS z#HEERTAE 222 & H 2 NMOS R4 %

360 LB [B 11)] Az RABK AR ER L3S A BT ?

(A)3t 3 (Shunt-shunt) (B)it # ( Shunt-series )
(C)# & (Series-series ) (D)® it (Series-shunt)
3740 LR (@ 12] piwBlrig e ?
ARBF P HEEBERARE B)REME EHERCEBLIEAS L
ORBMEESELBOKAE (D) E#E (Darlington) B T
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(EBBE#®@mER) "RRKC(CBEGEE)VEL S D ? v, C RV
(A) 2pF (B) 3pF (C) 4pF (D) 5pF _0
4k (B 13] AATERAMER LB TR ? o -
(A)R:E B)&Hi&E (C)%4E (Notch) (D)#:i& (Band pass) [B13)] L

40. N #8383 %A (Enhancement type) MOSFET i@ $i@ ey 2 2 (VmEERER)
(A)Ves<0  (B) Vo>V (C) Vas<Vru (D) Vgs =0
41.%# & T 7):£38 % &, (Recursive Function) :
int Fib (intn) {
if (n==0) return (1) ;
if (n==1) return (1) ;
if (n>1) return (Fib (n-1) +Fib (n-2) ) ;
# R X EF AT 0 FFI$4T Fib (5) ﬁ@éﬁ%ﬁ{ﬁﬁ: ?

(A) 13 (B) 8 (C) 15 (D) 3
42 7k L A8 > Fib(5) 48 347 Fib H X %% ?
(A) 15 (B) 9 (C) 20 (D) 13
43.% A,B,C =18% > A (A 4)6° B %(10.24);0 » C %(1010.0101), » £ A/ [E1a 2 ?
(A)A>B>C (B)B>A>C (O)A>C>B (D)C>A>B
4 —HHhERR D AA+B > ARHRBT?
(A) 1 (B) 0 (C) A-B (D) A+B
45— A om K (A+B)(K+g) P RALRG 9 R BT 7 B
(A) C+AB (B) AC+AB (C) AC (D) AC+AB
46.— &K F (x,y,2) = Im(1,3,4,5,7) » RAHHea4 R 4172
A z+xy B) z+Xxy ©)z+xy D) z+Xy

475 T 714248 * 468, 115, 121, 98, 746, 769, 805, 46, 48, 512, 33 ; AR E T — B i F ¥ (

Binary search tree ) 4% °» Sk4X 24818 % S12 0948 » ER LB SR F Ty b ?

A)3 B) 4 (OF) D)o
BREJEFTHGRAE  RESARREERG RO T HEB L0
(A) linked-list (B) stack (C) quene (D) tree
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49. 4 18 Nodes fe S ax % 2 R Bl = —7u#t (binary tree) ?
(A) 13 (B) 14 (C) 15 (D) 16

50— % %K 6 HEhEp ki > 24 FH—18 Process £ E 2 HEHEABRATERIE - ML
deadlock free 89K 5L TF » % %3k £ T B B 4542 418 Process #4T ?
(A)3 B)4 ©s D)6

Sldw&TF [B 14] A2 TR R 5454t 4% (Transfer Characteristics) » E % A~B~ C 4
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(A) Qi B# & (Ohmic Region) » Qu#f=& (Saturation Region ) Vb V.
B)QEEE > Q&R Vool
©) QaFE » Qi E E‘:Qz
D) QM E > QEIEE v,
S2EEM KBSz — > @3 E (Slewrate) Z B/ % 9 V.
(A) V/pus (B)R.PM (C) k/s (D) rad/s o ﬁ Q,
53.F FIBAATHF R & & 47 (Darlington) # X & %84 45 1 9 L

AER#ES B)ARRE Omimbig O)EAMES
S4BMEERERE (BIT) RASH THEEFAENERM SR D ? (& 14]

(A)CE@mft (B)CB#@s O CCark (D)2#E4mAE (Cascode) R
5540 [B 15) #Fim2 4 OP AEAKAS - ALK

TR Vol Viz BB ETK -

(A) Vi=Vi (B) Vo=-V; © Vo= | Vi| D) Vo= | V1|
56.LaFEE BB RRERBSET [B 16] Aiw

L4 BBEHHN e BmE 0.5C/W - (% 15] }
HAROEEMeREE AC/W ZIHAERBE
Ta=60°CHF » Rt BT BB TR L ToHRIBIHMA BT ?
(A) 80W (B) 60 W (C)40W (D) 20 W
5742 A#8 (ClassA) > B#a (ClassB) > AB#8 (Class AB)

»C#8 (ClassC) HMAR T » UH—BHRAZ 2 hReEhE
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(A)AB #5 B)A % ©B# D) C#
S8.EIHA A B RS A B i
(A) Loop gain 2484 £ % 180° 8% » @ HE /v 1 s 75 s 17 200
(B) Closed-loop gain f£ 484t £ % 180 B?r HEBHE AN (8 16]
(C) Closed-loop gain fe 484 £ % 180° 85 » @ ¥E /|7 1

(D) Open loop gain #2484 % % 180° E—*r E‘-“ %ﬂﬁf}\ﬁ"l

59.8404TF [B 17] 69 OP A BEHE K KE » BELBHBEIE] A >
HEEHR V=15V ~Ri=R;=R3=R ~Rc=R/3 >
REKEE Vi=5VeF Vo &7 ?

(A)-10V  (B)-15V (C) 10V (D) 15V
60.7K LA > 2% Vi=-5V B Vo E48 A4 ?
(A)-10V  (B)-15V (C) 10V (D) 15V
‘ (8 17]
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